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ShEEEIR (A) EN O N D)

T8 (As « HE) I W=1. 40m 79.33 +159.75 = 239.08 239. 1 m

B IR (B) RO DD 3EQ 3iEG KD FKD KO Fak@

T8 (As + BE) I  W=1. 40m 80.18 +3.51 +3.38 +5.00 +2.70 +5.30 +2.90 +2.80 = 105.77 105. 8 m

SRR () ARG

T8 (As + HE) EIHE  W=1. 40m 48.81 = 48.81 48.8 m

SRR (D) VNG

T8 (As « HE) I W=1. 40m 5.30 =5.30 5.3 m
As+CobfiHifl

AR T 15emPA T 239.10 X1.00 +105.80 X2.00 = 450.7 451 m
AstliHERR

AR T 15emPA T 48.80 X1.00 +5.30 X2.00 = 59.4 59 m

Ny ERVIZED S OcmiR 2 10emEd T

S BN - BHA (As) A28 Jn=5 (L0, 28n7 239.10 X 1.40 +105.80 X1.40 +48.80 X1.40 +5.30 X1.40 = 558.6 559 m2

Ny ERUIZED ST Ocmi 2 10emEL T

SREE R BB - BHA (Co) A y2Y Jn=5 (LK. 287 239.10 X 0.80 +105.80 X0.80 = 275.9 276 m2

N s flEs 7 L 239.10 X0.60 +105.80 X0.60 +48.80 X1.40 +5.30 X1.40 = 282.7 283 m2

NS e dH v 239.10  X0.80 +105.80 X0.80 = 275.9 276 m2

2 (T B ) FPAEAsAHE () (F5) 20mn

1E4 Y £t EJZ50mm L A~ 0l F 7 -k 239,10 X 1.40 4105.80 X 1,40 +48.80 X1.40 +5.30 X1.40 = 558.6 559 m2
N ysfy Je=7R (LAKO. 28 m

TA7 7 BE A At TEREEAEL Okm 239.10 X0.05 +105.80 X0.05 +48.80 X0.07 +5.30 XO0.07 =21.0 21 m3

PUT R PRIALEREY AsBL  239.10 X0.05 +105.80 X0.05 +48.80 X0.07 +5.30 X0.07 =21.0 21 m3
N yrfy Je=78 (LAKO. 28 m

av)) - ST A ACHR SEMRIEAEL Okm 239, 10 X 0.08 +105.80 X0.08 = 27.6 28 m3
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4 R B R SF s A
7t = o= e = &=
Ji%ax ¢ PRIALEREY CoBll  239.10 X0.08 +105.80 X0.08 =27.6 28 m3
ENIOF N OIS OIS 6
[X iR T Wisem {6« R 79.33 +159.75 +80. 18 +48. 81 = 368.07 368 m
MEDAE 7y 53
X [ T Wi5em #Hfa - 93F%  25.80 X2.00 = 51.6 52 m
2. BT LE %R
2 BB EEESE 8 H X 2 A = 16.0 16




